Documents Reviewed by NACMCF

FSIS will make all materials reviewed and considered by NACMCF regarding its deliberations available to the public. Generally, these materials will be made available as soon as possible after the full Committee meeting. Further, FSIS intends to make these materials available in electronic format on the FSIS Web page (www.fsis.usda.gov), as well as in hard copy format in the FSIS Docket Room. Often, an attempt is made to make the materials available at the start of the full Committee meeting when sufficient time is allowed in advance to do so.

Disclaimer: NACMCF documents and comments posted on the FSIS Web site are electronic conversions from a variety of source formats. In some cases, document conversion may result in character translation or formatting errors. The original document is the official, legal copy.

In order to meet the electronic and information technology accessibility standards in Section 508 of the Rehabilitation Act, NACMCF may add alternate text descriptors for non-text elements (graphs, charts, tables, multimedia, etc.). These modifications only affect the Internet copies of the documents.

Copyrighted documents will not be posted on the FSIS Web site, but will be available for inspection in the FSIS Docket Room.

Additional Public Notification

FSIS will announce this notice online through the FSIS Web page located at http://www.fsis.usda.gov/wps/portal/fsis/topics/regulations/federal-register/federal-register-notices.

FSIS also will make copies of this Federal Register publication available through the FSIS Constituent Update, which is used to provide information regarding FSIS policies, procedures, regulations, Federal Register notices, FSIS public meetings, and other types of information that could affect or would be of interest to constituents and stakeholders. The Update is communicated via Listserv, a free electronic mail subscription service for industry, trade groups, consumer interest groups, health professionals, and other individuals who have asked to be included. The Update also is available on the FSIS Web page. In addition, FSIS offers an electronic mail subscription service, which provides automatic and customized access to selected food safety news and information. This service is available at http://www.fsis.usda.gov/wps/portal/ fsis/programs-and-services/emailsubscription-service. Options range from recalls to export information to regulations, directives, and notices. Customers can add or delete subscriptions themselves and have the option to password protect their accounts.

USDA Nondiscrimination Statement

USDA prohibits discrimination in all of its programs and activities on the basis of race, color, national origin, gender, religion, age, disability, political beliefs, sexual orientation, and marital or family status (Not all prohibited bases apply to all programs).

Persons with disabilities who require alternative means for communication of program information (Braille, large print, and audiotape) should contact USDA's Target Center at (202) 720–2600 (voice and TTY).

To file a written complaint of discrimination, write USDA, Office of the Assistant Secretary for Civil Rights, 1400 Independence Avenue SW., Washington, DC 20250–9410 or call (202) 720–5964 (voice and TTY). USDA is an equal opportunity provider and employer.

Done at Washington, DC, on: May 15, 2015. Alfred V. Almanza,

Acting Administrator.

[FR Doc. 2015–12192 Filed 5–19–15; 8:45 am]

BILLING CODE 3410-DM-P

DEPARTMENT OF AGRICULTURE

Food and Nutrition Service

Agency Information Collection Activities: Proposed Collection; Comment Request—Evaluation of Supplemental Nutrition Assistance Program (SNAP) Employment and Training (E&T) Pilots

AGENCY: Food and Nutrition Service (FNS), USDA.

ACTION: Notice.

SUMMARY: In accordance with the Paperwork Reduction Act of 1995, this notice invites the public and other public agencies to comment on this proposed information collection. This is a new collection for the purpose of evaluating the Fiscal Year 2015 Pilot Projects to Reduce Dependency and Increase Work Requirements and Work Effort Under the Supplemental Nutrition Assistance Program (SNAP). **DATES:** Written comments must be received on or before July 20, 2015. **ADDRESSES:** Comments are invited on: (a) Whether the proposed collection of information is necessary for the proper performance of the functions of the

agency, including whether the information shall have practical utility; (b) the accuracy of the agency's estimate of the burden of the proposed collection of information, including the validity of the methodology and assumptions that were used; (c) ways to enhance the quality, utility, and clarity of the information collected; and (d) ways to minimize the burden of the collection of information on those who are to respond, including use of appropriate automated, electronic, mechanical, or other technological collection techniques or other forms of information technology.

Comments may be sent to: Wesley R. Dean, Food and Nutrition Service, U.S. Department of Agriculture, 3101 Park Center Drive, Room 1014, Alexandria, VA 22302. Comments may also be submitted via fax to the attention of Wesley R. Dean at 703–305–2576 or via email to wesley.dean@fns.usda.gov. Comments will also be accepted through the Federal eRulemaking Portal. Go to http://www.regulations.gov, and follow the online instructions for submitting comments electronically.

All written comments will be open for public inspection at the Office of the Food and Nutrition Service during regular business hours (8:30 a.m. to 5 p.m. Monday through Friday) at 3101 Park Center Drive, Room 1014, Alexandria, Virginia 22302.

All responses to this notice will be summarized and included in the request for Office of Management and Budget approval. All comments will be a matter of public record.

FOR FURTHER INFORMATION CONTACT:

Requests for additional information or copies of this information collection should be directed to Wesley R. Dean, Office of Policy Support, Food and Nutrition Service, USDA, 3101 Park Center Drive, Room 1014, Alexandria, VA 22302.

SUPPLEMENTARY INFORMATION:

Title: Evaluation of SNAP E&T Pilots.

OMB Number: 0584–NEW.

Expiration Date: Not Yet Determined.

Type of Request: New Collection.

Abstract: The Supplemental Nutrition

Abstract: The Supplemental Nutrition Assistance Program (SNAP) is a critical work support for low-income people and families. SNAP benefits help eligible low-income families put food on the table in times of need. It also supports critical and needed skills and job training so that recipients can obtain good jobs that lead to self-sufficiency. SNAP's long-standing mission of helping unemployed and underemployed people is challenging. To help them and their families achieve self-sufficiency, strategies are needed to

impart the skills employers want, and to help address other barriers to employment. Some participants need assistance developing a resume and accessing job leads, others need education and training, and still others need help overcoming barriers that prevent them from working steadily. The SNAP Employment and Training (E&T) program provides assistance to unemployed and underemployed clients in the form of job search, job skills training, education (basic, postsecondary, vocational), work experience or training and workfare, but limited information exists on what is most effective in connecting these participants to gainful employment.

The Agriculture Act of 2014 (Pub. L. 113–79, Section 4022), otherwise known as the 2014 Farm Bill authorized grants for up to 10 pilot sites to develop and rigorously test innovative SNAP E&T strategies for engaging more SNAP work registrants in unsubsidized employment, increasing participants' earnings and reducing reliance on public assistance. The pilots' significant funding can expand the reach of employment and training services and enable States to experiment with promising strategies to increase engagement and promote employment. An evaluation of the pilot sites will be critical in helping Congress and FNS identify strategies that effectively assist SNAP participants to succeed in the labor market and become self-sufficient.

The 10 States receiving grants to fund pilot projects are California, Delaware, Georgia, Kansas, Kentucky, Illinois, Mississippi, Vermont, Virginia and Washington State. The evaluation will collect data from all 10 pilot sites in 2015-2016 (baseline), 2016-2017 (12-month follow-up) and 2018-2019 (36-month follow-up). The data collected for this evaluation will be used for implementation, impact, participant and cost-benefit analyses for each pilot site. Research objectives include: (1) Documenting the context and operations of each pilot, identify lessons learned, and to help interpret and understand impacts within each pilot and across pilots, (2) identifying the impacts on employment, earnings, and reliance on public assistance and food security and other outcomes, to determine what works, and what works for whom, (3) examine the characteristics of service paths of pilot

participants and the control group to assess whether the mere presence of the pilots and their offer of services or participation requirements influence whether people apply for SNAP (entry effects), and (4) estimate the total and component costs of each pilot and provide an estimate of the return to each dollar invested in the pilot services. Primary outcomes will be employment, earnings, and participation in public assistance programs, which will be measured through state administrative records, a baseline survey administered during enrollment into the study, and through follow-up telephone surveys conducted at approximately 12 months and 36 months. Impacts on secondary outcomes, such as food security, health status, and self-esteem, will be measured through the follow-up telephone surveys as well. The end products (interim and final reports) will provide scientifically valid evidence of the pilot project impacts.

Affected Public: Members of the public affected by the data collection include individuals and households; State and local governments; and Businesses from the Private sector (forprofit and not-for-profit). Respondent types identified include (1) individuals and households eligible for SNAP E&T participation; (2) directors and managers from State and local government agencies supporting the SNAP E&T programs; (3) staff from State and local government agencies providing direct services to SNAP E&T participants; (4) directors and managers from private sector for-profit businesses providing SNAP E&T services; and (5) directors and managers from private sector notfor-profit agencies providing SNAP E&T services.

Estimated Number of Respondents: The total estimated number of respondents is 50,758. This includes 50,018 individuals, 280 State and local government directors/managers and staff, and 460 private sector for-profit business and not-for-profit agency directors/managers. Of the 50,000 individuals completing a baseline survey when applying for services, FNS will contact 25,000 out of which 18,240 individuals in the treatment and comparison groups will complete a 12month follow-up telephone survey (6,760 will be non-responders). Of 18,240 respondents to the 12-month follow-up, 11,090 will complete a 36-

month follow-up telephone survey (7,150 non-respondents). Among the individuals contacted for the telephone surveys, 120 may also be contacted for a focus group, 67 for an in-depth interview, and 27 for a case study on topics of special interest to FNS. Of the individuals contacted for the focus groups, in-depth interviews, and case studies, 214 participants will participate and 86 will decline and be considered nonrespondents. 18 individuals will be contacted separately to pretest surveys, interviews, and focus groups. 170 State and local government agency directors/ managers will be contacted for inperson interviews. 150 of those will be interviewed two additional times; 10 of the directors/managers will provide case study data and 10 will provide cost data. A separate group of 100 directors/ managers will be sampled to participate in a time use survey, and 10 data director/managers will be contacted for administrative data. 200 Private sector not-for-profit and for-profit agency directors/managers and staff will be contacted for cost/benefit interviews. These individuals will also be contacted for in-person interviews, and the directors and managers for the case study will be recruited from this group.

160 individuals will be contacted for a time-use survey. This sample will also be used to recruit staff to participate in the case study. 100 staff members responsible for data management will also be contacted for the provision of administrative data.

Estimated Frequency of Responses per Respondent: Average of 1 response for individuals per instrument or activity and 1.59 for all activities, 4.36 responses for State and local government representatives for all contacts, and 21.07 responses for private sector representatives for all contacts. The number of contacts per activity range from 1 to 20 across all participants.

Estimated Total Annual Responses: 106,159.

Estimated Time per Response: About 0.35 hours (21.6 minutes). The estimated time of response varies from 0.08 to 8 hours depending on the respondent group and data collection activity, as shown in the table below.

Estimated Total Annual Burden on Respondents: The total annual burden is 32,260 hours.

BILLING CODE 3410-30-P

				•	RESPON	DENTS								
Affected public	Respondents type	Instrument	Sample size	Estimated number of respondents	Frequency of	Total responses	Average time per response (hours)	burden	Estimated number of non- respondents	of	Total	Average time per response (hours)	Total Estimated annual burden (hours)	Grand Total burden estimate
							ıals/house							
	Participant	Baseline survey	50,000	50,000	1	50,000	0.08	4,000.00	0	0	0	0	0.00	4,000.00
	Participant	Pretest	18	9	1	9	0.50	4.50	9	1	9	0.05	0.45	4.95
als	Participant	Telephone survey (12- mon follow- up)	25,000	18,240	1	18,240	0.50	9,120.00	6,760	1	6,760	0.05	338.00	9,458.00
Individuals	Participant	Telephone survey (36- mon follow- up)	18,240	11,090	1	11,090	0.50	5,545.00	7,150	1	7,150	0.05	357.50	5,902.50
	Participant	Focus Group	120	80	1	80	1.67	133.33	40	1	40	0.08	3.33	136.67
	Participant	Indepth interview	67	33	1	33	2.17	72.22	33	1	33	0.08	2.78	75.00
	Participant	Case Study	27	13	1	13	3.17	42.22	13	1	13	0.08	1.11	43.33
	Subtotal of un lividuals/hous		50,018	50,009	1.59	79,466	0.24	18,917	14,006	-	14,006	-	703	19,620
						State and	local gove	rnment						
State or local government	State or local director /manager	In-person interview (round 1) and Cost/benefit interviews	170	170	1	170			0	0	0	0.08	0.00	170.00
		In-person interview (round 2)	150	150	1	150	1.00	150.00	0	0	0	0.08	0.00	150.00

	State or local direct service staff	In-person interview (round 3)	150	150	1	150	1.00	150.00	0	0	0	0.08	0.00	150.00
	direct service staff	Case Study	10	10	1	10	1.00	10.00	0	0	0	0.08	0.00	10.00
		Provide administrative data	10	10	12	120	8.00	960.00	0	0	0	0.08	0.00	960.00
		Cost/benefit interviews (after visit 1)	10	10	19	190	1.00	190.00	0	0	0	0.08	0.00	190.00
		Provide cost data	10	10	13	130	2.00	260.00	0	0	0	0.08	0.00	260.00
	State or local director/ manager	Time Use Survey	100	100	3	300	1.00	300.00	0	0	0	0.08	0.00	300.00
Subtota	al unique State Tribal governi	e, local, and	280	280	4.36	1,220	1.80	2,190.00	0	_	0	_	0.00	2,190.00
	w. g		200			1,220	1.00	2,15 0.00	<u> </u>				0.00	2,13 0.00
						Business f								
	Private sector for-profit business director/ manager	In-person interview (round 1)	75	75	1	75	1.00	75.00	0	0	0	0	0.00	75.00
	Private sector for-profit business director/ manager	In-person interview (round 2)	75	75	1	75	1.00	75.00	0	0	0	0	0.00	75.00
Pri	business director/ manager	interview (round 3)	75	75	1	75	1.00	75.00	0	0	0	0	0.00	75.00
	Private sector for-profit business director/ manager & staff	Case Study	60	60	1	60	1.00	60.00	0	0	0	0	0.00	60.00

Private sector for-profit business data staff	administrative	50	50	12	600	4.00	2,400.00	0	0	0	0	0.00	2,400.00
	Cost/benefit interviews	100	100	20	2,000	0.50	1,000.00	0	0	0	O	0.00	1,000.00
Private sector for-profit business director/ manager	data	100	100	13	1,300	1.00	1,300.00	0	0	0	0	0.00	·
Private sector for-profit business staff	Survey	80	80	3	240	1.00	240.00	0	0	O	0	0.00	240.00
Private sector not-for-profit	In-person	75	75	1	75	1.00	75.00	O	0	0	O	0.00	75.00
Private sector not-for-profit agency director/ manager		75	75	1	75	1.00	75.00	0	O	0	O	0.00	75.00
Private sector not-for-profit	In-person interview (round 3)	75	75	1	75	1.00	75.00	0	0	0	0	0.00	75.00
Private sector for-profit business director/ manager & staff		60	60	1	60	1.00	60.00	0	O	0	0	0.00	60.00
data staff	administrative data	50	50	12	600	4.00	2,400.00	0	0	0	0	0.00	·
Private sector not-for-profit agency		100	100	20	2,000	0.50	1,000.00	0	0	0	0	0.00	1,000.00

Audrey Rowe,

Administrator. Food and Nutrition Service.

[FR Doc. 2015–12205 Filed 5–19–15; 8:45 am]

BILLING CODE 3410–30–C

Dated: May 12, 2015.

Grand	i total	50,758	50,709	1.77	89,536	0.35	31,557.28	14,006	1.00	14,006	0.05	703.17	32,260.45
Subtotal unique priva sector		460	420	21.07	8,850	1.18	10,450	0	_	0	_	0.00	10,450.00
Private sector not-for-profit staff	I I	80	80	3	240	1.00	240.00	0	0	0	0	0.00	240.00
Private sector not-for-profit agency director/ manager	data	100	100	13	1,300		,	0	0	0	0	0.00	,
director/ manager													

^{*} Nonrespondents are part of the total individuals who completed the baseline information form.

^{**} Sources: Bureau of Labor Statistics, National Compensation Survey, 2010. May, 2011, Bulletin 2753. (http://www.bls.gov/ncs/ncswage2010.htm): Individual/Participant: National minimum wage. State, local, or Tribal agency director/manager: Average hourly earnings of State and local government workers in management occupations; Private sector for-profit business director/manager: Average hourly earnings of private industry management occupations; Private sector not-for-profit agency director/manager: Average hourly earnings of private sector social and community services managers